QH2E T -EEithigHEHE-BEI= LA 10YWE (ke)
o 5 HH= ZNE
s nEs x5 [aRmAE 1B [Eums | PHEEE] ()
1{EIEAFL Y 160,700 0 0 0 160,700 48.82
2lkLTy 92,183 0 0 0 92,183 28.00
3F LY 25,630 0 0 0 25,630 7.79
4|HCFC—141b 15,600 0 0 0 15,600 474
5|[k)J/OoOTFLY 13,300 0 0 0 13,300 4.04
6|TFILREY 9,563 0 0 0 9,563 2.90
7|5 21E KFERUVZDKABHEE 0 3,202 0 0 3,202 0.97
8| ZAFL Y 2,500 0 0 0 2,500 0.76
9|N, N—UAFILRILL TSR 2,300 0 0 0 2,300 0.70
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10[(FZILFILEDRZHMN12M515FETDS 0 1,400 0 0 1,400 0.43
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S 0 25,700 25,700 29.04
211 AFLY 0 19,580 19,580 22.12
3Ly 0 12,040 12,040 13.60
NIYPEEES I 0 11,300 11,300 12.77
5| =y ILIEEY 0 4,600 4,600 5.20
6|HCFC—141b 0 4,000 4,000 4.52
NIFILREY _ 0 3,300 3,300 3.73
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10[TFLH)a—)L 0 1,100 1,100 1.24
Z DAt 0 1,021 1,021 1.15
&&t 5 88,495 88,500




